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Answer ALL the questions.

Items 1 to 20 are stems followed by four options lettered A to D. Read each item carefully and
circie the letter of the correct or best option.

t. Find the value of x for which 16, + 32, = 40,

A2
B. 5
C. 6
. 8
2. Find the value of x such that 324, = 89
A6
B. 5
C. 4
B3
2 2125

Find the value of the missing addend so that the following addition is true: + o
P R 3

2102
A 1102,
B. 1010
C. 121
D. 1221,

4. Given that the set A= {0, 1, 2, 3, 4, 5, 6} represents the elements of a certain number base.
Which of the following number bases can best describe the unknown base?

A5
B. &
C. 7
D8
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5. Find the missing number if the following addition sentence is in base six,

4 5 2
S
2 5 4
A. 145
B, 154
4158
Iy, 514
6. 'The number 287 when converted to base 3 is .........coeeinis
X i
A. 101 E22W€e
‘%)
B, §_@b§22§m€
C.oi1i %223;27%
D111l iZEkree

7. Find the value of x such that365, +43 =217

ten *

A0S

B, 6

C. 7

D 8

2. Find the base, n, for which 102, = 51,

AT .

C. 13

D, 49

9. In a library, the ratio of number of story books to that of non-story books was 4:3 when the total
number of story books was 1248. When some more story books were bought, the ratio became

5.3,

4. How many new story books were bought?
B. 3

&
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10. Three numbers are in the ratio 1/2 : 2/3 : 3/4. The difference between the greatest and the
smallest numbers is 36, What are the three numbers?

60,72, 96

Al

8. 72,84,96
C. 72,84, 108
D. 72,96, 108
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Ll Convert 412 base five to a base ten numeral,

AL 112
B. 107
. 89
D. 81
12. A person types 360 words in 4 minutes. How much time does he take to type 900 words?
A9
B. 10
C. 15
D90
13. What is the value of the digit “3”, in base ten, in the number 431557

mm

Dowp 3
LAY o
~3 5

)
Loy

14. Express 5(5*+2) as a number in base 5.

A, 10205
B. 1200
. 10025
D, 20105

L

. There are “b” boys and “g” girls in a class. The ratio of the number of the boys to the total
number of students in the class is given by:

Al “ﬁw
Btg
b

B, -~
g

L.
b
b

=3

- A salesperson at a provision store is paid GH¢80.00 per week in wages plus a 4% commission
on all her sales. How much will that salesperson earn in a week in which she sold GHg4032.00
worth @f goods?

A. GH¢241.28

B. GH¢201.42
C. GH¢192.64
D. GH¢192.25

-
~3

by

- If a car travels at an average speed of 70 kilometers i per hour for 4 hours, what will be distance,
in kilometers, covered at the end of the fourth hour of travel?
A, 17.5 kilometers

B. 74 kilometers
C. 174 kilometers
D. 280 kilometers

Page3 of 4



s

ol

[

10% discournd off the

o
25
e
oy
PN
ot
23
fat
&
o]
-
i o
e
oot
w3
&,
g’
=
ke
&3
[¢
©
iy
o
o]
L
=3
.
by
-
e
2]
@]
&
-
W
.
[
L
[N
ot
[
o
oy
]
oy
))—c\
—
-
<
=
o]
aa
9

i sents What is the actual distance between two cities 1f they are
On a map, 1 cm represents 150 km. What is the actual dist e
3.5 cm apart on the map?

ANV
A, 300km

B, 45Gkm

o~ k3 T, . 4 . i,’ ~ i‘?‘%%"i &?{%
C e e e i « ig 43, If there are 49 pupils in the class, how many
The ratio of girls to boys in a class is 4.3, If there are 49 pupi ,

5
(PR

b BB b2
R B

D
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